Mid Unit Review | - KEY
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MName: Date:

Math 9 Section 1.1 Assignment

1. Indicate which of the following are perfect square: (Write YES or NO) If it is a perfect square, write it as
the square of an integer

a) 81 2 b) 225 2 c) 71 d) 169 2
L 1S No 13
144 = 289 1000 h) 0 2
e) 12 f) 7% gl No ) 0
i) 25 125 100 131
i) 5 2 1) No K) ’01 L) No
121 10,000 45 256 z
™ n* I 50 SR A
2. Simplify each of the following square roots: (NO Calculators)
a) 22 b) L A c) 100 10 d) 2 S
81 4 64 < 289 —_— 121 7,"
177
49 159 361 h) +/2.25
e) J— 7 )y 8) i —
100 —_— 256 |3 1000
,O —_— )-{
/6
i) +/0.64 1) 4f0.04 K) 128 g 0 12 2
242 —_ 243 -q-
0-% 02 /i
50 841 47 _ [44 961
m) J: s n) ,f— o) 1’— = F Pl — 3
98 _7’ 49 _2:‘_ 300 oo 144 2
! 7
/o
a) =008 ) f1-12 S ENT 22 =2
100 ? 5 23
'(ﬁq l‘ q’u' -
© [e2s =2°5 = |22
75
2 7 =628 > 7 =75
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3. If the area of a square is 1,1563?12, what is the length of its side?

’ 11S6 = Z4m

4. Place each of the following square roots on the number line:

A) 2025 B) —/12.96 o [ D) +J0.09 E) 1024
100
j2) D ¢ E
| | o 1 | | | P I.I.Iﬁl}
~ | | | | | |
5 4 -3 2 -] 0 1 2 3 4 9

5. Find the side length of each of the following squares:

a) b) c)
i 4 ™M 12
= s A=, =" A=T2.250 g:Sm
49 T
d) e) f}
A=0,0009zr 450,
: 0-03¢m 2500 L | S5C%mm || 4=2pr | 086 km
A=?MM 7 578

6. A piece of paper is 10cm by 10cm. How many different squares with side lengths that are integers can
you cut out from this piece of paper? (ie: all squares must either 1cmxlcm, 2cmx2cm, or

3cmx3cm ....etc)

Ix) @ Joo SxS o 4x4q |\

2%2 25 b+46: | oy |

%3 4 747 1 Totad = 14§
4yut & Sx& |
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